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[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡ìºà¹

l¡üv¡¹  ƒà*¡ú

1. Ogive ¤yû¡ì¹Jà¹ ÎàÒàì™¸ [>¹ê¡šo A¡¹à ™àÚ

(A) ³‹¸³à

(B) deciles

(C) percentiles

(D) l¡üšì¹¹ Î¤P¡ìºà

2. KØl¡ [ƒìÚ ³àšà ÒÚ

(A) "¤Ñ‚à>

(B) [¤Záå¹o

(C) ÎÒÎ´¬Þê¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

3. [¤[ZáÄ ³àì>¹ ëA¡à> šø®¡à¤ ë>Òü

(A) Kà[o[t¡A¡ KìØl¡¹ l¡üš¹

(B) ³‹¸³à¹ l¡üš¹

(C) P¡ì>àv¡¹ KìØl¡¹ l¡üš¹

(D) [¤š¹ãt¡ KìØl¡¹ l¡üš¹
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Direction : Answer the following questions by

selecting the correct option.

1. With the help of ogive curve, one can 

determine

(A) median

(B) deciles

(C) percentiles

(D) All of the above

2. Mean is a measure of

(A) location

(B) dispersion

(C) correlation

(D) None of the above

3. Extreme values have no effect on

(A) arithmetic mean

(B) median

(C) geometric mean

(D) harmonic mean

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


4. 5 &¤} –5 &¹ P¡ìoàv¡¹ KØl¡ Òì¤

(A) 10

(B) 0

(C) 5

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

5. šø=³ 100[i¡ Ñ¬à®¡à[¤A¡ Î}J¸à¹ Kà[o[t¡A¡ KØl¡ Òº

(A) 51

(B) 50

(C) 50·5

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

6. ™[ƒ AM = 10 &¤} CV = 40 ÒÚ, t¡ì¤
SD-&¹ ³à> Òì¤

(A) 4

(B) 16

(C) 12

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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4. The geometric mean of two numbers 

5 and –5 is

(A) 10

(B) 0

(C) 5

(D) None of the above

5. The AM of first 100 natural numbers 

is

(A) 51

(B) 50

(C) 50·5

(D) None of the above

6. If AM = 10 and CV = 40, then the

value of SD is

(A) 4

(B) 16

(C) 12

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


7. &A¡[i¡ ‹>àuA¡ ÑHæl¡ [¤®¡à\ì>¹ ëÛ¡ìy

(A) median > mode

(B) mode > mean

(C) mean > median

(D) mean > mode

8. &A¡[i¡ š[¹Î}J¸à> [¤®¡à\ì>¹ ëÛ¡ìy
mean = mode = 16 Òìº, me dian-&¹ 
³à> Òì¤

(A) 0

(B) 16

(C) 32

(D) 8

9. ™[ƒ Q1 15=  &¤} Q 3 25=  ÒÚ, t¡ì¤
W¡tå¡=¢à}Å [¤Wå¡¸[t¡ P¡oàìS¡¹ ³à> Òì¤

(A) 4

(B)
1

4

(C)
5

3

(D)
3

5
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7. For a positive skewed distribution

(A) median > mode

(B) mode > mean

(C) mean > median

(D) mean > mode

8. If for a frequency distribution

mean = mode = 16, then the value of 

median is

(A) 0

(B) 16

(C) 32

(D) 8

9. If Q1 15=  and Q 3 25= , then the

coefficient of quartile deviation is

(A) 4

(B)
1

4

(C)
5

3

(D)
3

5

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


10. MD (about mean) &¤} SD-&¹ ³ì‹¸
Î[k¡A¡ Î´šA¡¢[i¡ Òº

(A) MD > SD

(B) MD £ SD

(C) MD ³ SD

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

11. [¹ìNøÅ> ë¹Jà y a bx= +  &¹ ëÛ¡ìy  b-ëA¡
¤ºà ÒÚ

(A) ºàÒüì>¹ >[t¡

(B) ºàÒüì>¹ ëáƒ[¤–ƒå

(C) (A) &¤} (B) &¹ ëA¡à>[i¡Òü >Ú

(D) (A) &¤} (B) l¡ü®¡ÚÒü

12. ™[ƒ [¹ìNøÅ> P¡oàS¡ byx < 1 ÒÚ, t¡ì¤ bxy  Òì¤

(A) 1 ë=ìA¡ ëáài¡

(B) 1 ë=ìA¡ ¤Øl¡

(C) 1 &¹ Î³à>

(D) 0 &¹ Î³à>

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

/10 5 [ P.T.O.

10. The correct relation between MD

(about mean) and SD is

(A) MD > SD

(B) MD £ SD

(C) MD ³ SD

(D) None of the above

11. In the regression line y a bx= + , b is

called the

(A) slope of the line

(B) intercept of the line

(C) Neither (A) nor (B)

(D) Both (A) and (B)

12. If regression coefficient byx < 1, then 

bxy  is

(A) less than 1

(B) greater than 1

(C) equal to 1

(D) equal to 0

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


13. ™[ƒ X &¤} Y Ñ¬à‹ã> ÒÚ, t¡ì¤ [¹ìNøÅ> P¡oàS¡ 
byx -&¹ ³à> ÒÚ

(A) 0

(B) 1

(C) ¥

(D) ë™ ëA¡à> ‹>àuA¡ ³à>

14. [¹ìNøÅ> ë¹Jà‡Ú ëáƒ A¡ì¹

(A) ( , )b byx xy  [¤–ƒåìt¡

(B) ( , )x y  [¤–ƒåìt¡

(C) ( , )0 0  [¤–ƒåìt¡

(D) ( , )1 1 [¤–ƒåìt¡

15. ™[ƒ rxy = ±1 ÒÚ, t¡ì¤ [¹ìNøÅ> ë¹Jà‡Ú Òì¤

(A) Î³àšt¡[>A¡

(B) Î³à”z¹àº

(C) &ìA¡ "šì¹¹ º ¬́

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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13. If X and Y are independent, then the 

value of regression coefficient byx  is

equal to

(A) 0

(B) 1

(C) ¥

(D) any positive number

14. The lines of regression intersect at

the point

(A) ( , )b byx xy

(B) ( , )x y

(C) ( , )0 0

(D) ( , )1 1

15. If rxy = ±1, then the two lines of

regression are

(A) coincident

(B) parallel

(C) perpendicular to each other

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


16. [¹ìNøÅ> P¡oàìS¡¹ t¡à;š™¢ š¹ãÛ¡à Òìt¡ šàì¹

(A) t-test ‡à¹à

(B) F-test ‡à¹à

(C) (A) &¤} (B) l¡ü®¡ÚÒü

(D) (A) &¤} (B) &¹ ëA¡à>[i¡Òü >Ú

17. y a bx cx dx= + + +2 3 "ìšÛ¡A¡[i¡ [A¡ìÎ¹

šø[t¡[>[‹Œ A¡ì¹?

(A) &A¡[i¡ š¹à¤õìv¡¹

(B) &A¡[i¡ exponential ¤yû¡ì¹Jà¹

(C) &A¡[i¡ "[‹¤õìv¡¹

(D) l¡üšì¹¹ Î¤P¡ìºà

18. ƒå[i¡ [¹ìNøÅ> ºàÒü> Òº 3 4 8 0x y- + =  &¤}  
4 3 1x y- = , x &¤} y &¹ KØl¡ ³à> ™=àyû¡ì³

(A) 4 &¤} 5

(B) 3 &¤} 4

(C)
4

3
 &¤} 

5

4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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16. The significance of regression

coefficient can be tested by

(A) t-test

(B) F-test

(C) Both (A) and (B)

(D) Neither (A) nor (B)

17. The function y a bx cx dx= + + +2 3

represents

(A) a hyperbola

(B) an exponential curve

(C) a parabola

(D) All of the above

18. Given the two lines of regression as 

3 4 8 0x y- + =  and 4 3 1x y- = , the

means of x and y are

(A) 4 and 5

(B) 3 and 4

(C)
4

3
 and 

5

4

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


19. ÎÒÎ´¬Þê¡ P¡oàS¡ l¡üŠ±à[¤t¡ ÒìÚ[áº

(A) 1910 Îì>

(B) 1890 Îì>

(C) 1908 Îì>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

20. &A¡à[‹A¡ W¡ìº¹ ÎÒÎ´¬Þê¡ P¡oàìS¡¹ š[¹Îã³à Òº

(A) 0 ë=ìA¡ 1

(B) 0 ë=ìA¡ ¥

(C) –1 ë=ìA¡ 1

(D) -¥ ë=ìA¡ ¥

21. Î´±à¤>à šøA¡àÅ A¡¹à ÒÚ

(A) ratio [ÒÎàì¤

(B) proportion [ÒÎàì¤

(C) percentage [ÒÎàì¤

(D) l¡üšì¹¹ Î¤P¡ìºà

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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19. Correlation coefficient was invented

in the year

(A) 1910

(B) 1890

(C) 1908

(D) None of the above

20. The range of multiple correlation

coefficient is

(A) 0 to 1

(B) 0 to ¥

(C) –1 to 1

(D) -¥ to ¥

21. Probability is expressed as

(A) ratio

(B) proportion

(C) percentage

(D) All of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


22. ƒå[i¡ Qi¡>à A &¤} B &¹ ëÛ¡ìy A &¤} B

&A¡Îàì= Î}Q[i¡t¡ Ò*Úà¹ Î´±à¤>à Òº

(A) P A P B( ) ( )+

(B) P A B( )È

(C) P A B( )Ç

(D) P A P B( ) ( )×

23. š[¹Î}J¸à>Kt¡ Î´±à¤>à¹ Î}`¡à ³èºt¡ Î}`¡à[Út¡
A¡ì¹[áìº>

(A) De Moivre

(B) Laplace

(C) von Mises

(D) Pascal

24. &A¡[i¡ Qi¡>à A-&¹ ëÛ¡ìy A-&¹ "¤Ñ‚à¹
"‹ãì> A-&¹ Î´±à¤>à Òº

(A) 0

(B) 1

(C) 0·5

(D) "[>[ƒ¢Ê¡

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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22. If A and B are two events, the

probability of occurrence of A and B

simultaneously is

(A) P A P B( ) ( )+

(B) P A B( )È

(C) P A B( )Ç

(D) P A P B( ) ( )×

23. The definition of statistical

probability was originally defined by

(A) De Moivre

(B) Laplace

(C) von Mises

(D) Pascal

24. For an event A, the conditional

probability of A given A is equal to

(A) 0

(B) 1

(C) 0·5

(D) Undefined

https://applink.adda247.com/d/XhqWf9lSap
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25. ƒå[i¡ šàÅà ƒåÒü ëJìºàÚàØl¡ A &¤} B ‡à¹à
Qèo¢àÚ³à>¡ú A 10 áåòìØl¡ìá¡ú B, A-&¹ tå¡º>àÚ
"àì¹à ë¤[Å áåòØl¡ì¤ t¡à¹ Î´±à¤>à Òº

(A)
1

12

(B)
1

6

(C)
1

18

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

26. ëƒ*Úà "àìá P A( ) =
1

3
, P B( ) =

1

4
, 

P
A

B

æ
è
ç

ö
ø
÷ =

1

6
. P

B

A

æ
è
ç

ö
ø
÷-&¹ ³à> Òº

(A)
1

4

(B)
3

4

(C)
1

8

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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25. Two dice are rolled by two players A

and B. A throws 10, the probability

that B throws more than A is

(A)
1

12

(B)
1

6

(C)
1

18

(D) None of the above

26. Given that P A( ) =
1

3
, P B( ) =

1

4
, 

P
A

B

æ
è
ç

ö
ø
÷ =

1

6
. The probability of P

B

A

æ
è
ç

ö
ø
÷

is

(A)
1

4

(B)
3

4

(C)
1

8

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


27. ƒå[i¡ [>¹ìšÛ¡ šàÅà [ƒìÚ &A¡[i¡ [¤ì\àØl¡ Î³[Ê¡
[>ìÛ¡ìš¹ Î´±à¤>à Òº

(A)
1

4

(B)
1

16

(C) 1

(D)
1

2

28. &A¡[i¡ ³å‰à 6 ¤à¹ [>[Û¡œ¡ ÒìÚìá¡ú ëÒl¡ &¤}
ëi¡Òüº š™¢àÚyû¡ì³ šà*Úà¹ Î´±à¤>à Òº

(A)
1

64

(B)
1

2

(C)
1

32

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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27. The probability of throwing an odd

sum with two fair dice is

(A)
1

4

(B)
1

16

(C) 1

(D)
1

2

28. A coin is tossed six times. The

probability of obtaining heads and

tails alternately is

(A)
1

64

(B)
1

2

(C)
1

32

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


29. ™[ƒ P
A

B

æ
è
ç

ö
ø
÷ =

1

4
 &¤} P

B

A

æ
è
ç

ö
ø
÷ =

1

3
 ÒÚ, t¡ì¤ 

P A

P B

( )

( )
-&¹ ³à> Òº

(A)
3

4

(B)
7

12

(C)
4

3

(D)
1

12

30. &A¡[i¡ "[‹¤ìÈ¢ 53[i¡ ¹[¤¤à¹ =àA¡ì¤ t¡à¹
Î´±à¤>à Òº

(A)
1

7

(B)
2

7

(C)
2

53

(D)
52

53
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29. If P
A

B

æ
è
ç

ö
ø
÷ =

1

4
 and P

B

A

æ
è
ç

ö
ø
÷ =

1

3
, then 

P A

P B

( )

( )
 is

(A)
3

4

(B)
7

12

(C)
4

3

(D)
1

12

30. The probability that a leap year will

have 53 Sundays is

(A)
1

7

(B)
2

7

(C)
2

53

(D)
52

53

https://applink.adda247.com/d/XhqWf9lSap
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31. ™[ƒ A BÌ  ÒÚ, t¡ì¤ P
A

B

æ
è
ç

ö
ø
÷-&¹ ³à> Òì¤

(A) 0

(B) 1

(C)
P A

P B

( )

( )

(D)
P B

P A

( )

( )

32. [¤š¹ãt¡ KØl¡ A¡³ P¡¹ç¡Œ ëƒÚ

(A) ‹>àuA¡ ³à>ìA¡

(B) ˜¡oàuA¡ ³à>ìA¡

(C) ëáài¡ ³à>ìA¡

(D) ¤Øl¡ ³à>ìA¡

33. šø=³ &Kàì¹à[i¡ šøàAõ¡[t¡A¡ Î}J¸à¹ ¤ìK¢¹ KØl¡ ³à>
Òº

(A) 46

(B) 23

(C) 48

(D) 42
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31. If A BÌ , then the probability P
A

B

æ
è
ç

ö
ø
÷

is equal to

(A) 0

(B) 1

(C)
P A

P B

( )

( )

(D)
P B

P A

( )

( )

32. Harmonic mean gives less weightage 

to

(A) positive values

(B) negative values

(C) small values

(D) large values

33. The mean of the squares of first 11

natural numbers is

(A) 46

(B) 23

(C) 48

(D) 42

https://applink.adda247.com/d/XhqWf9lSap
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34. [‡Qàt¡ KØl¡ &¤} Kà[o[t¡A¡ KìØl¡¹ ³ì‹¸ Î´šA¢¡[i¡
Òº

(A) QM = AM

(B) QM > AM

(C) QM < AM

(D) QM ¹ AM

35. &A¡[i¡ š[¹[³t¡¹ê¡ìš ÑHæl¡ š[¹Î}J¸à> [¤®¡à\ì>¹
ëÛ¡ìy KØl¡ 30 &¤} ë³àl¡ 36 Òìº ³‹¸³à¹ ³à> 
Òì¤

(A) 30

(B) 28

(C) 32

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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34. The relation between quadratic

mean (QM) and arithmetic mean

(AM) is

(A) QM = AM

(B) QM > AM

(C) QM < AM

(D) QM ¹ AM

35. If a moderately skewed distribution

has mean 30 and mode 36, the

value of median will be

(A) 30

(B) 28

(C) 32

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


36. [¤Záå¹ìo¹ ëA¡à>ô š[¹³àš[i¡ ëÅÈ ëJàºà ëÅøoã
"”z¹™åv¡û¡ š[¹Î}J¸à> [¤®¡à\ì>¹ ëÛ¡ìy Ko>à
A¡¹à ™àÚ?

(A) š[¹Î¹

(B) Î³A¡ šà=¢A¡¸

(C) ë®¡ƒ³à> P¡oàS¡

(D) W¡tå¡=¢à}Å [¤Wå¡¸[t¡

37. &A¡[i¡ [Î[¹ì\¹ šø[t¡[i¡ ³à>ìA¡ 0·10 [ƒìÚ P¡o
A¡¹à Òìº &¹ ë®¡ƒ³à> P¡oàS¡ t¡à¹ "àÎº
[Î[¹ì\¹ ë®¡ƒ³à> P¡oàìS¡¹ tå¡º>àÚ

(A) ¤õ[‡ý¡ šàì¤

(B) ÒùàÎ šàì¤

(C) "[¤Aõ¡t¡ =àA¡ì¤

(D) Åè>¸ Òì¤
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36. Which measure of dispersion can be

calculated in case of open-end

intervals?

(A) Range

(B) Standard deviation

(C) Coefficient of variation

(D) Quartile deviation

37. If each value of a series is multiplied 

by 0·10, the coefficient of variation

as compared to original value is

(A) increased

(B) decreased

(C) unaltered

(D) zero

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


38. &A¡[i¡ ‹>àuA¡ ÑHæl¡ š[¹Î}J¸à> [¤®¡à\ì>¹ ëÛ¡ìy 
t¡à¹ šøà”z¤t¡ã¢ ³à>[i¡ =àA¡ì¤

(A) ¤à³ šøàì”z

(B) l¡à> šøàì”z

(C) ³àc¡Jàì>

(D) ë™ ëA¡à> Ñ‚àì>

39. &A¡[i¡ š[¹Î}J¸à> [¤®¡à\ì>¹ ÎèòW¡àºt¡à W¡à¹šàÅ
\åìØl¡ =àìA¡

(A) [‡t¡ãÚ W¡tå¡=¢à}ìÅ¹

(B) Kà[o[t¡A¡ KìØl¡¹

(C) [‡Qàt¡ KìØl¡¹

(D) ë³àìl¡¹

40. &A¡[i¡ šàÒü [W¡ìy¹ [¤A¡¿ Òº

(A) ‹àš ¤à¹ [W¡y

(B) &ºàA¡à [W¡y

(C) A¡ºà³ W¡ài¢¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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38. In case of positive skewed

distribution, the extreme values lie

(A) in the left tail

(B) in the right tail

(C) in the middle

(D) anywhere

39. Kurtosis in a frequency distribution

is adjudged around

(A) second quartile

(B) arithmetic mean

(C) quadratic mean

(D) mode

40. An alternative chart to pie chart is

(A) step bar diagram

(B) area diagram

(C) column chart

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


41. [W¡y[º[š Îà‹à¹ot¡ ¤¸¤Òà¹ A¡ì¹>

(A) ³à>[W¡yA¡à¹

(B) "šiå¡ A¡³ã¢

(C) [¤`¡à>ã

(D) l¡üšì¹¹ Î¤àÒü

42. [óø¡ìA¡àìÚ[X ¤à¹ìºìJ¹ ÎàÒàì™¸ "à³¹à šøÑñt¡
A¡¹ìt¡ šà[¹

(A) [óø¡ìA¡àìÚ[X ¤×®å¡\

(B) [óø¡ìA¡àìÚ[X ¤yû¡ì¹Jà

(C) š[¹Î}J¸à> [¤®¡à\>

(D) l¡üšì¹¹ Î¤P¡ìºà

43. ƒå[i¡ ºÛ¡¸Òã> W¡º X &¤} Y &¹ ëÛ¡ìy ™[ƒ 
P X Y( )£ = 1 ÒÚ, t¡ì¤

(A) E X E Y( ) ( )£

(B) E X E Y( ) ( )³

(C) E X E Y( ) ( )=

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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41. Pictograms are generally used by

(A) cartographer

(B) dilettante

(C) scientist

(D) All of them

42. With the help of histogram, we can

prepare

(A) frequency polygon

(B) frequency curve

(C) frequency distribution

(D) All of the above

43. For two random variables X and Y, if 

P X Y( )£ = 1, then

(A) E X E Y( ) ( )£

(B) E X E Y( ) ( )³

(C) E X E Y( ) ( )=

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


44. &A¡[i¡ ºÛ¡¸Òã> W¡º X-&¹ ëÛ¡ìy E
X

1æ
è
ç

ö
ø
÷-&¹

ÎàÒàì™¸ [>o¢Ú A¡¹à ÒÚ

(A) Kà[o[t¡A¡ KØl¡

(B) [¤š¹ãt¡ KØl¡

(C) P¡ìoàv¡¹ KØl¡

(D) [‡Qàt¡ KØl¡

45. &A¡[i¡ ºÛ¡¸Òã> W¡º X-&¹ ëÛ¡ìy E t x( )-&¹

š[¹[W¡[t¡ Òº

(A) šøAõ¡[t¡ [>ìƒ¢ÅA¡ "ìšÛ¡A¡

(B) ë³àì³–i¡ l¡ü;šàƒA¡ "ìšÛ¡A¡

(C) Î´±à¤>à l¡ü;šàƒA¡ "ìšÛ¡A¡

(D) x t¡³ ë³àì³–i¡
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44. For a random variable X, E
X

1æ
è
ç

ö
ø
÷ is

used to find

(A) arithmetic mean

(B) harmonic mean

(C) geometric mean

(D) quadratic mean

45. For a random variable X, E t x( ) is

known as

(A) characteristic function

(B) moment-generating function

(C) probability-generating function

(D) the xth moment

https://applink.adda247.com/d/XhqWf9lSap
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46. ƒå[i¡ šÚÎ> [>ì¤Å> ">åÎà¹ã "ìšÛ¡A¡ X &¤} Y
&¹ ëÛ¡ìy E X( ) = 1 &¤} E Y( ) = 2 Òìº 
P X Y( )+ < 3-&¹ ³à> Òì¤

(A) e-3

(B) 3 3e-

(C) 4 3e-

(D) 8 5 3× -e

47. ™[ƒ X b n p~ ( , ) ÒÚ, t¡ì¤ Y n X= -  &¹
[>ì¤Å>[i¡ Òì¤

(A) b n( , )1

(B) b n x( , )

(C) b n p( , )

(D) b n p( , )1-

48. Ñ¶õ[t¡Òã> ‹ì³¢¹ "[‹A¡à¹ã [>ì¤Å>[i¡ Òº

(A) Kà³à

(B) \¸à[³[t¡A¡

(C) "[‹\¸à[³[t¡A¡

(D) l¡üšì¹¹ Î¤P¡ìºà
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46. If X and Y are two Poisson variates

such that E X( ) = 1 and E Y( ) = 2, the

probability P X Y( )+ < 3  is

(A) e-3

(B) 3 3e-

(C) 4 3e-

(D) 8 5 3× -e

47. If X b n p~ ( , ), the distribution of 

Y n X= -  is

(A) b n( , )1

(B) b n x( , )

(C) b n p( , )

(D) b n p( , )1-

48. The distribution possessing the

memoryless property is

(A) gamma

(B) geometric

(C) hypergeometric

(D) All of the above

https://applink.adda247.com/d/XhqWf9lSap
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49. &A¡[i¡ Ñ¬à®¡à[¤A¡ [>ì¤Åì>¹ ëÛ¡ìy QD, MD

&¤} SD &¹ ">åšàt¡ Òì¤

(A) 5 : 6 : 7

(B) 10 : 12 : 15

(C) 2 : 3 : 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

50. p [Ñ‚[t¡³àš™åv¡û¡ &A¡[i¡ ¤àì>¢à[º [>ì¤Åì>¹
ë³àì³–i¡ l¡ü;šàƒA¡ "ìšÛ¡A¡[i¡ Òº

(A) ( )q pet n+

(B) ( )q pet n+ -

(C) ( )q pet+

(D) ( )q pe t+ -

51. &A¡[i¡ šÚÎ> [>ì¤Å> ">åÎà¹ã "ìšÛ¡ìA¡¹
ëÛ¡ìy m 4 2=  Òìº t¡à¹ KìØl¡¹ ³à> Òì¤

(A)
1

3

(B)
2

3

(C)
1

4

(D)
3

4
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49. For a normal distribution, the QD,

MD and SD are in the ratio

(A) 5 : 6 : 7

(B) 10 : 12 : 15

(C) 2 : 3 : 4

(D) None of the above

50. The moment-generating function of

a Bernoulli distribution with

parameter p is

(A) ( )q pet n+

(B) ( )q pet n+ -

(C) ( )q pet+

(D) ( )q pe t+ -

51. A Poisson random variable has 

m 4 2= , the value of its mean is

(A)
1

3

(B)
2

3

(C)
1

4

(D)
3

4

https://applink.adda247.com/d/XhqWf9lSap
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52. f x e x( ) /= -1

2
2; x > 0 p.d.f. ™åv¡û¡ &A¡[i¡

ÎèW¡A¡ [>ì¤Åì>¹ KØl¡ &¤} ë®¡ƒ³à> Òº

(A)
1

2
2,

æ
è
ç

ö
ø
÷

(B) 2
1

4
,

æ
è
ç

ö
ø
÷

(C)
1

2

1

4
,

æ
è
ç

ö
ø
÷

(D) ( , )2 4

53. [ , ]-1 3  "”z¹™åv¡û¡ &A¡[i¡ &A¡[>Ú³à>åÎà¹ã [>ì¤Å> 
W¡ìº¹ ë®¡ƒ³à> Òº

(A)
8

5

(B)
4

3

(C)
13

4

(D)
9

2
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52. For an exponential distribution with

p.d.f. f x e x( ) /= -1

2
2; x > 0, its mean

and variance are

(A)
1

2
2,

æ
è
ç

ö
ø
÷

(B) 2
1

4
,

æ
è
ç

ö
ø
÷

(C)
1

2

1

4
,

æ
è
ç

ö
ø
÷

(D) ( , )2 4

53. The variance of a random variable

with uniform distribution over the

interval [ , ]-1 3  is

(A)
8

5

(B)
4

3

(C)
13

4

(D)
9

2

https://applink.adda247.com/d/XhqWf9lSap
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54. ™[ƒ X b~ ,16
1

4

æ
è
ç

ö
ø
÷ ÒÚ, t¡ì¤ m 3-&¹ ³à> Òº

(A)
1

2

(B)
5

2

(C)
3

2

(D)
7

4

55. ™[ƒ X N~ ( , )0 1 ÒÚ, t¡ì¤ 
X 2

2
 &A¡[i¡ Kà³à

[>ì¤Å> ">åÎà¹ã "ìšÛ¡A¡ ™à¹ [Ñ‚[t¡³à>‡ìÚ¹
³à> Òº

(A) 1
1

2
,

æ
è
ç

ö
ø
÷

(B)
1

2
1,

æ
è
ç

ö
ø
÷

(C)
1

2

1

2
,

æ
è
ç

ö
ø
÷

(D) ( , )1 1

56. 2 Ñ¬à‹ã>t¡à¹ ³àyà™åv¡û¡ &A¡[i¡ A¡àÒü ¤K¢ [>ì¤Å>
¤yû¡ì¹Jà¹ "àA¡à¹ Òº

(A) "[‹¤õìv¡¹ ³t¡

(B) š¹à¤õìv¡¹ ³t¡

(C) J-"àA¡àì¹¹ ³t¡

(D) Q–i¡à¹ "àA¡àì¹¹ ³t¡
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54. If X b~ ,16
1

4

æ
è
ç

ö
ø
÷, then the value of m 3

is

(A)
1

2

(B)
5

2

(C)
3

2

(D)
7

4

55. If X N~ ( , )0 1, then 
X 2

2
 is a gamma

variate with parameters

(A) 1
1

2
,

æ
è
ç

ö
ø
÷

(B)
1

2
1,

æ
è
ç

ö
ø
÷

(C)
1

2

1

2
,

æ
è
ç

ö
ø
÷

(D) ( , )1 1

56. The slope of a chi-square

distribution curve for d.f. 2 is

(A) a parabola

(B) a hyperbola

(C) a J-shaped curve

(D) a bell-shaped curve

https://applink.adda247.com/d/XhqWf9lSap
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57. cn
2  "ìšÛ¡ìA¡¹ [>ì¤Å>[i¡ Òì¤

(A) n Ñ¬à‹ã>t¡à¹ ³àyà™åv¡û¡ t-[>ì¤Å>

(B) Kà³à [>ì¤Å>

(C) ÎèW¡A¡ [>ì¤Å>

(D) A¡àÒü [>ì¤Å>

58. n Ñ¬à‹ã>t¡à¹ ³àyà™åv¡û¡ A¡àÒü ¤K¢ [>ì¤Åì>¹ KØl¡
³à> &¤} ë®¡ƒ³àì>¹ ³ì‹¸ Î´šA¢¡[i¡ Òº

(A) KØl¡ = 2 × ë®¡ƒ³à>

(B) 2 × KØl¡ = ë®¡ƒ³à>

(C) KØl¡ = ë®¡ƒ³à>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

59. &A¡[i¡ ºÛ¡¸Òã> W¡º X-&¹ [>ì¤Å>[i¡ F( , )4 7

Òìº t¡à¹ ë³àìl¡¹ ³à> Òì¤

(A)
22

15

(B)
9

5

(C)
17

15

(D)
11

5
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57. The variate cn
2  will be distributed

as

(A) t-distribution with n d.f.

(B) gamma distribution

(C) exponential distribution

(D) chi-distribution

58. The relation between the mean and

variance of c 2 with n d.f. is

(A) mean = 2 × variance

(B) 2 × mean = variance

(C) mean = variance

(D) None of the above

59. A random variable X is distributed

as F( , )4 7 , the mode of the

distribution will be

(A)
22

15

(B)
9

5

(C)
17

15

(D)
11

5

https://applink.adda247.com/d/XhqWf9lSap
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60. &A¡[i¡ ºÛ¡¸Òã> W¡º X-&¹ [>ì¤Å> "ìšÛ¡ìA¡¹
ëÛ¡ìy F F( ) ( )5 2-  &¹ Î³à> Òì¤

(A) P X( )2 5< <

(B) P X( )2 5£ <

(C) P X( )2 5£ £

(D) P X( )2 5< £

61. =àA¡¤–ƒã >³å>à Î}NøÒ š‡ý¡[t¡ ë™ [¤®¡àìK¹ "”zK¢t¡ 
ëÎ[i¡ Òº

(A) \à\ì³–i¡ >³å>à Î}NøÒ š‡ý¡[t¡

(B) l¡üì„Å¸³Ú >³å>à Î}NøÒ š‡ý¡[t¡

(C) [>Ú[”|t¡ >³å>à Î}NøÒ š‡ý¡[t¡

(D) [>¤¢àW¡A¡ >³å>à Î}NøÒ š‡ý¡[t¡

62. &A¡[i¡ >³å>à ë=ìA¡ šà*Úà ³à> 1, 3, 5, 7, 9
&¹ ëÛ¡ìy >³å>à\ KìØl¡¹ šø³ào °à[”z¹ ³à> Òº

(A) 2

(B)
1

2

(C) 2

(D)
1

2
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60. For the distribution function of a

random variable X, F F( ) ( )5 2-  is

equal to

(A) P X( )2 5< <

(B) P X( )2 5£ <

(C) P X( )2 5£ £

(D) P X( )2 5< £

61. Stratified sampling belongs to the

category of

(A) judgement sampling

(B) purposive sampling

(C) controlled sampling

(D) selective sampling

62. For sample observations 1, 3, 5, 7,

9, the standard error of sample

mean is

(A) 2

(B)
1

2

(C) 2

(D)
1

2

https://applink.adda247.com/d/XhqWf9lSap
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63. &A¡[i¡ šøàAô¡A¡ºA¡ Î¤ìW¡ìÚ ®¡àº Òì¤ ™[ƒ t¡à¹
[>ì¤Å> ÒÚ

(A) [>¹¤[ZáÄ

(B) Ñ¬t¡”|

(C) [Ñ‚[t¡³àìš¹ šøAõ¡t¡ ³àì> Q>ã®è¡t¡

(D) Ñ¬à®¡à[¤A¡

64. ™[ƒ X X X n1 2, , ...,  &A¡[i¡ šèo¢A¡ N ( , )0 2s

&¹ &A¡[i¡ ºÛ¡¸Òã> >³å>à ÒÚ, t¡ì¤ s 2  &¹
suf fi cient sta tis tic Òì¤

(A) X iå

(B) X i
2å

(C) ( )X iå 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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63. An estimator is considered to be the

best if its distribution is

(A) continuous

(B) discrete

(C) concentrated about the true

parameter value

(D) normal

64. If X X X n1 2, , ...,  is a random sample 

from a population N ( , )0 2s , the

sufficient statistic for s 2 is

(A) X iå

(B) X i
2å

(C) ( )X iå 2

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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65. &A¡[i¡ Ñ¬à®¡à[¤A¡ šèo¢A¡ N ( , )m s 2  &¹ ëÛ¡ìy

m-&¹ 95% šøt¡¸ÚÎã³à [>o¢Ú A¡¹à¹ Îèy Òº

(A) - × £
-

< ×1 96 1 96
x

n

m

s /

(B) P z
x

n
z- £

-
£

æ

è
ç

ö

ø
÷ = ×a a

m

s
/ /

/
2 2 0 95

(C) x n± ×1 96 s /

(D) l¡üšì¹¹ Î¤P¡ìºà

66. &A¡[i¡ ÎUt¡šèo¢ šøàAô¡A¡ºìA¡¹ šÛ¡šàt¡Åè>¸ ‹³¢

(A) šøìÚà\>ãÚ

(B) ™ì=Ê¡

(C) šøìÚà\>ãÚ &¤} ™ì=Ê¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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65. The formula for obtaining 95%

confidence limit for the mean m of a

normal population N ( , )m s 2  is

(A) - × £
-

< ×1 96 1 96
x

n

m

s /

(B) P z
x

n
z- £

-
£

æ

è
ç

ö

ø
÷ = ×a a

m

s
/ /

/
2 2 0 95

(C) x n± ×1 96 s /

(D) All of the above

66. For an estimator to be consistent,

the unbiasedness of the estimator is

(A) necessary

(B) sufficient

(C) necessary and sufficient

(D) None of the above
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67. ƒå[i¡ Ñ¬à®¡à[¤A¡ šèo¢ìA¡¹ ë®¡ƒ³àì>¹ ">åšàìt¡¹
šøt¡¸ÚÎã³à¹ Îèìy¹ ÎìU Î´šA¢¡™åv¡û¡ Òº

(A) c 2-[>ì¤Å>

(B) F-[>ì¤Å>

(C) t-[>ì¤Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

68. ">å³à> š¹ãÛ¡à¹ ‹à¹oà šø=³ šøoÚ> A¡ì¹>

(A) R. A. Fisher

(B) J. Neyman

(C) E. L. Lehmann

(D) A. Wald

69. ëA¡à> š¹ãÛ¡à &A¡šàÅ«¢™åv¡û¡ >à [‡šàÅ«¢™åv¡û¡ t¡à [>®¢¡¹ 
A¡ì¹

(A) [¤A¡¿ ">å³àì>¹ l¡üš¹

(B) ë™ï[KA¡ ">å³àì>¹ l¡üš¹

(C) null ">å³àì>¹ l¡üš¹

(D) ÎÒ\ ">å³àì>¹ l¡üš¹
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67. The formula for the confidence

interval for the ratio of variances of

two normal populations involves

(A) c 2-distribution

(B) F-distribution

(C) t-distribution

(D) None of the above

68. The idea of testing of hypothesis was 

first set by

(A) R. A. Fisher

(B) J. Neyman

(C) E. L. Lehmann

(D) A. Wald

69. Whether a test is one-sided or two-

sided depends on

(A) alternative hypothesis

(B) composite hypothesis

(C) null hypothesis

(D) simple hypothesis

https://applink.adda247.com/d/XhqWf9lSap
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70. ƒå[i¡ Ñ¬à®¡à[¤A¡ šèo¢A¡ N ( , )m s1
2  &¤} 

N ( , )m s2
2  &¹ ëÛ¡ìy (s 2  "`¡àt¡) 

H 0 1 2: m m=  š¹ãÛ¡à¹ \>¸ š¹ãÛ¡à š[¹Î}J¸à> 
ÒìZá

(A) t
x x

n n

=
-

+

( )1 2

1 2

1 1

(B) t
x x

n n

=
-

+
æ

è
ç

ö

ø
÷

( )1 2

2

1 2

1 1
s

(C) t
x x

S
n n

=
-

+
æ

è
ç

ö

ø
÷

( )1 2

2

1 2

1 1

(D) l¡üšì¹¹ Î¤P¡ìºà

71. [‡-[¤®¡à\> š[¹Î}J¸àì>¹ ëÛ¡ìy c 2-&¹

Ñ¬à‹ã>t¡à ³àyà Òº

(A) 4

(B) 2

(C) 1

(D) 0

72. Vital statistics šø‹à>t¡ Î´š[A¢¡t¡

(A) \ì–µ¹ ÎìU

(B) ³õtå¡¸¹ ÎìU

(C) [¤¤àìÒ¹ ÎìU

(D) l¡üšì¹¹ Î¤P¡ìºà

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

/10 28

70. For two normal populations 

N ( , )m s1
2  and N ( , )m s2

2  with s 2

unknown, the test statistic for

testing H 0 1 2: m m=  based on small

sample is

(A) t
x x

n n

=
-

+

( )1 2

1 2

1 1

(B) t
x x

n n

=
-

+
æ

è
ç

ö

ø
÷

( )1 2

2

1 2

1 1
s

(C) t
x x

S
n n

=
-

+
æ

è
ç

ö

ø
÷

( )1 2

2

1 2

1 1

(D) All of the above

71. The degrees of freedom for c 2 in

case of dichotomized frequencies are

(A) 4

(B) 2

(C) 1

(D) 0

72. Vital statistics is mainly concerned

with

(A) births

(B) deaths

(C) marriages

(D) All of the above
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73. ¤ÚÎ Î´š[A¢¡t¡ ³õtå¡¸Òà¹ [¤ìÅÃÈìo "Û¡³

(A) ³õtå¡¸¹ "¤Ñ‚à

(B) ³à>åìÈ¹ ¤ÚÎ ">å™àÚã [¤®¡à\>

(C) [ºU ">åšàt¡

(D) l¡üšì¹¹ Î¤P¡ìºà

74. NRR < 1 Òü[Ut¡ A¡ì¹

(A) \>Î}J¸à ¤õ[‡ý¡¹

(B) \>Î}J¸à ÒùàìÎ¹

(C) \>Î}J¸à [Ñ‚¹t¡à¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

75. Life table-&¹ "š¹ >à³

(A) mortality table

(B) survival table

(C) life expectancy table

(D) l¡üšì¹¹ Î¤P¡ìºà
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73. Age-specific mortality rates fail to

reveal

(A) mortality conditions

(B) age distribution of persons

(C) sex ratio

(D) All of the above

74. The value of NRR < 1 is indicative of

(A) increase in population

(B) reduction in population

(C) constancy in population

(D) None of the above

75. Life table has also been named as

(A) mortality table

(B) survival table

(C) life expectancy table

(D) All of the above

https://applink.adda247.com/d/XhqWf9lSap
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READ THE FOL LOW ING IN STRUC TIONS CARE FULLY :  

[>³—[º[Jt¡ [>ìƒ¢Åà¤ºã ®¡àìºà A¡ì¹ šØl¡æ> :

1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

šø[t¡[i¡ šøìÅ—¹ l¡üv¡¹ [ÒÎàì¤ ë™ W¡à¹[i¡ [¤A¡¿ ëƒ*Úà "àìá t¡à ë=ìA¡ Ç¡‹å³ày Ç¡‡ý¡ l¡üv¡¹[i¡¹ ëšø[Û¡ìt¡ OMR l¡üv¡¹šìy ëƒ*Úà ¤õv¡[i¡ A¡àìºà
¤ºšìÚ–i¡ A¡º³ ‡à¹à Î´šèo¢¹ê¡ìš A¡àìºà A¡ì¹ [W¡[Òû¡t¡ A¡¹ìt¡ Òì¤¡ú &A¡¤à¹ l¡üv¡¹ [W¡[Òû¡t¡ A¡¹à ÒìÚ ëKìº t¡àìA¡ "à¹ š[¹¤t¢¡> A¡¹à ™àì¤ >à¡ú

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

š¹ãÛ¡à=¢ã¹à ëA¡àì>à®¡àì¤Òü OMR l¡üv¡¹šy[i¡ ®ò¡à\ A¡¹ì¤> >à¡ú OMR l¡üv¡¹šìy ëA¡àì>à¹A¡³ ƒàK A¡ài¡à ¤à ³”z¤¸ ëºJà ™àì¤ >à¡ú š¹ãÛ¡à=¢ã¹à
tò¡àìƒ¹ ë¹àº >à´¬à¹ l¡üv¡¹šìy [>[ƒ¢Ê¡ A¡¹à \àÚKà áàØl¡à ">¸ ëA¡àì>à \àÚKàÚ [ºJì¤> >à¡ú

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR l¡üv¡¹šy &¤} šøÅ—šìy¹ ¤¸¤Òàì¹ Îà[¤¢A¡ Ît¡A¢¡t¡à "¤º ¬́> A¡¹ìt¡ Òì¤¡ú ëA¡àì>à "¤Ñ‚àìt¡Òü (³å‰o yç¡[i¡ * š‡ý¡[t¡Kt¡ yç¡[i¡ áàØl¡à) OMR

l¡üv¡¹šy * šøÅ—šy šàìÂi¡ ëƒ*Úà ™àì¤ >à¡ú

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

š¹ãÛ¡à=¢ãìA¡ "¸àìi¡ì“¡X Åãi¡-& tò¡à¹  OMR l¡üv¡¹šìy¹ >à´¬à¹ &¤} šøÅ—šìy¹ >à´¬à¹ [>®å¢¡º®¡àì¤ [ºJìt¡ Òì¤¡ú

5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.
š¹ãÛ¡à=¢ãìA¡ "¸àl¡[³i¡ A¡àl¢¡ &¤} ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ áàØl¡à ">¸ ëA¡àì>à áàšàì>à ¤à ëºJà A¡àK\, šk¡> * ³å‰o\àt¡ Îà³Nøã, ëš\à¹, ë³à¤àÒüº 
ëó¡à>, ">¸ ëA¡àì>à¹A¡³ ÒüìºC¡ö[>A¡ [l¡®¡àÒüÎ [>ìÚ š¹ãÛ¡à Òìº/A¡ìÛ¡ šøì¤Å A¡¹ìt¡ ëƒ*Úà Òì¤ >à¡ú

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.
š¹ãÛ¡à Òìº Òü>[®¡[\ìºi¡¹ A¡tõ¢¡A¡ [A¡}¤à š¹ãÛ¡à ëA¡ì–ƒø¹ [®¡t¡ì¹ š¹ãÛ¡à-Î}[ÅÃÊ¡ "à[‹A¡à[¹A¡ A¡tõ¢¡A¡ ƒà[¤ A¡¹à Òìº šøìt¡¸A¡ š¹ãÛ¡à=¢ã tò¡à¹ "¸àl¡[³i¡
A¡àl¢¡ * ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ ëƒJàìt¡ ¤à‹¸ =àA¡ì¤>¡ú

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her 
seat.
ëÎ–i¡à¹ Îåšà[¹>ìi¡>ìl¡–i¡ ¤à Òü>[®¡[\ìºi¡¹-&¹ [¤ìÅÈ ">å³[t¡ áàØl¡à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òìº tò¡à¹ ¤Îà¹ Ñ‚à> š[¹¤t¢¡> A¡¹ìt¡ šà¹ì¤> >à¡ú

8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.
š¹ãÛ¡à=¢ã[ƒKìA¡ Òü>[®¡[\ìºi¡ì¹¹ ëƒ*Úà "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹ìt¡ Òì¤, šø=³¤à¹ š¹ãÛ¡à Òìº tò¡àìƒ¹ "àÎ> NøÒìo¹ š¹ &¤}

[‡t¡ãÚ¤à¹ Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú

9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.
"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK

A¡¹ìt¡ šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸
Òì¤ &¤} t¡à ">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú

11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ *
[>ìƒ¢[ÅA¡à ">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú

13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹
Îàì= [>ìÚ ë™ìt¡ šàì¹>¡ú
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